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Coding Decoding Questions Overview

Coding Decoding Questions have a good weightage in the Banking Exam and the type of question asked in Banking exam
is similar to the question mentioned below. It has been solved and explained by Gargi.ai Experts and they have tried to
elaborate the concept used in Coding Decoding Questions.

Coding Decoding Questions

Directions: Read the following information carefully and answer the questions given below. In a certain code language,
‘The boy has a toy’ is written as ‘mn kp tb wa np’, ‘The toy is soft’ is written as ‘tb vi nl mn’ and ‘He has soft toy’ is written
as ‘tb kp nl gh'.

Question

What is the code for the word ‘he’?

Difficulty : Moderate Average Time: 47 Seconds

Options :
1. gh

2. tb
3. kp
4. Can't be determined

5. None of these

Solution

The correct answer is option 1i.e. gh

Understanding
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The codes for the following words are:

ords | Codes
The mn
Toy tt
Soft |
as .
is i
He gn

In the above table, we can see that the word
‘he’ has a code ‘gh’.
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